Year 5/6 Maths Homework
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Bus Stop Method Division:
4-Digit Numbers by 1-Digit Numbers

LO: I can use a formal method of division.

1. 1047 + 3 = 16. 1892 + 4 =

2. 2456 + 4 = 17. 3744 + 6 =

3.3295 + 5= 18. 1880 + 4 =

4. 2784 + 4 = 19. 4592 + 8 =

5.1011 + 3 = 20. 2922 + 6 =




Forming Expressions

1. Match the function machines with the correct expressions.
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2. These are the outputs for the given function machines. What were the functions?
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3. Use the digit cards to create functions for the given input and write the expression
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